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1. (3 points) P is a prime number that divides 252. Which of the following must be true?
Explain your reasoning and/or show your work.
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2. (2 points) What is the 100th digit to the right of the decimal place in the decimal expansion

. 17 . .
of the fraction WQ? Explain your reasoning and/or show your work.
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(3 points) Exactly one of the numbers below is a prime number. Which one is ii? Explain

your reasoning and/or show your work.
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4. (2 points) The prime factorization of 1239 is 3 x 7 x 39. How many factors does 1239 have,
including 1 and itself? Explain your reasoning and Jor show your work.
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